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H30.1 A ~ 12 A &t

HE(HE) |B=GIER)| /FEL LI BE(HEF) BERIE) &%F

(kg) (kg) (%) (%) (ke) (kg) (FH)
/R g Y]\ 1% B%| X 115 . .

(@ R=-R D 4,101,572 3,534,067 116.1% 15.3% & 4511,729.2 3,887,473.7 1,909,635

/R g Yl , , , , A% 9% X 1.015 , , . , , i , ,
@ E AR 4,778,489 5,749,238 83.1% 17.9% & 4,778,489.0 5,749,238.0 1,677,823
[ £ 00 # ] 2,883,552 2,419,622 119.2% 10.8%| x 4.4f%| 12,687,628.8| 10,646,336.8 1,927,299
[ 07 & # ] 2,857,357 2,589,587 110.3% 10.7%| x 2.2 6,286,185.4 5,697,091.4 1,968,209
[ BF B8 # ] 9,628,748 9,637,102 99.9% 36.0%| x8.6f%| 82,807,232.8| 82,879,077.2 7,526,550

& g Yl s s ) .O% 6% X 1.215 , , . X . ,
@ E-RIR=D 1,767,792 778,516 0.0% 6.6% & 2,121,350.4 934,219.2 228,018
[ % 4 0 ] 729,569 1,898,847 38.4% 2.7%| % 1.04% 729,569.0 1,898,847.0 471,644
st 26,747,079 26,606,979 100.5% 100.0% 113,922,184.6| 111,692,283.3| 15,709,178

H31. 1~R1.118
HE(HE) |H=GEIERY)| FEL 17 BRE(LEF) HE (RTEE) £E(HF)

(kg) (kg) (%) (%) (kg) (kg) (FH)
(@ A=-R D 3,461,747 3,184,945 108.7% 14.7%| x 1145 3,807,921.7 3,503,439.5 1,573,883
[ E45 D E ) 4,944,520 5,335,405 92.7% 20.9%| x 1.0 4,944520.0 5,335,405.0 1,631,007
[ £ 09 # ] 2,276,046 2,280,311 99.8% 9.6%| x4.4#2| 10,014,602.4| 10,033,368.4 1,352,687
[ O %= # ) 2,244,316 2,456,120 91.4% 9.5%]| x 2.2 4,937,495.2 5,403,464.0 1,353,331
[ IR B # ] 9,137,085 8,610,655 106.1% 38.7%| x8.6f5| 78,578,931.0 74,051,633.0 6,181,282
@ E R N=D 852,480 633,364 134.6% 3.6%| x 1.2{% 1,022,976.0 760,036.8 117,525
[ %% 4 0 ] 691,074 1,792,542 38.6% 2.9%| x 1.01% 691,074.0 1,792,542.0 500,823
et 23,607,268 24,293,342 97.2% 100.0% 103,997,520.3| 100,879,888.7| 12,710,538
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